
4.286

4

�k�lP	
Qij_mnop <qr�?

KNYE ��

�����
²³

(Ø10 ~ Ø25)

�	´CY1H 
µ31% 
� 29%

I¶

30% ~ 50%

·¸�¹C

�3'4�Klm

�º)»{¼

�1[½%¾¿ÀÁ`��
ÂÃuÄL1[i����½%¾X

Åz

stB������

����

100mm

BC ÆD[\H 
·¸H25 
Ç±4100 5¸��
È±z{

M(�NH

25mm 

OC ÆD[\H

CY1F25L-100AR


·¸H10 
3'5¸�
Ç±z{

M(�NH

300

QC=?@ARSTU?+VW=?@AX�	Y

"#$%

CY1F10R-300�!��

01�2�3KNYE YZ u 5 vZZ

·¸[\

10 - ø10mm

15 - ø15mm

25 - ø25mm
z{
É

Ê Ç±º)»{¼R

Ê È±º)»{¼L


w
<xx?

��st
<xx?

y^st
<xx?

z{|}�

������

10 50, 100, 150, 200,
250, 300 500

D-A90L
D-A93L
D-A96L
D-F9NL
D-F9BL

15
50, 100, 150, 200,
250, 300, 350, 400,

450, 500
750

25
100, 150, 200, 250,
300, 350, 400, 450,

500, 550, 600
1200


w
<xx?

~���
(mm¡)

��S*���M��
0.2 0.3 0.4 0.5 0.6 0.7

10 78 15 23 31 39 46 54
15 176 35 52 70 88 105 123
25 490 98 147 196 245 294 343


w�<xx? 10 15 25
ËÌF 53.9 137 363

����

Í }DÎ%
ÏeÐ� N�1 YISOVG 32

·¸ 
0 ~ 250 ·¸ 
251 ~ 1000

¶Ñ·¸1000

+1.0
0

+1.4
0

+1.8
0

�[\�I¯¯C 10 15
�]^ *1

�#_�` a#

�ËÒÓKF

25

�bcdeKF

1.05MPa

�bfdeKF

0.7MPa

�>gT]^h7

0.2MPa

�wxÔ7

-10 ~ +60˚C

�lm <8�K� ¡

ÍÎ% iDE

�·¸ÕÖ�I¯¯C

�»{¼` º)»{¼

�·¸5×:;

50 ~ 500mm/s

-1.2 ~ 0.8
�z{|\

-1.4 ~ 0.6
M5 x 0.8 Rc(PT)1/8

QC

	
��)* Ø®H

�k��* Ø®H

N

N

·¸5×¡

nÙN Ê3'

ÊÈ±4AL 5¸�� 25mm

Ê Ç±4AR 5¸��25mm

Ê §±4A 5¸��25mm

u3e�����8 [3d�����8

+ª«z{
É +ª«z{
É



4.287

4

�k�lP	
Qij_mnop <qr�?3KNYE ��

y��#*+�$%

*+

$%

(N•m)

~��_ xx�� ~��_ xx�� ~��_ xx��

(kg)

~��_ xx�� ~��_ xx�� ~��_ xx�� ~��_ xx��



4.288

4

�k�lP	
Qij_mnop <qr�?3KNYE ��

789:; <=>?

�! ��st A EA EB EH ES EW EY G GA GB GC GD H HA HB HW

CY1F10 50, 100, 150, 200, 250, 300 49 10 16 7 6.5 16 27 9 7 19.5 14 6 28 26 14 35.5

CY1F15 50, 100, 150, 200, 250, 300, 350, 400, 450, 500 52.5 10 16 7 6.5 16 27 9 8 23 17 9 34 32 17 41.5

CY1F25 50, 100, 150, 200, 250, 300, 350, 400, 450, 500, 550, 600 70 13 17 10.5 8 22 40 10 12 33.5 22.5 12 46 44 23.5 55

�! KA KB KC KH KW L LA LL LW LZ ML MM N P PA PB PC Q QA QB QW

CY1F10 6.5 44 8 19 59 38 58 20 86 19 5 M3 x 0.5 18.5 M5 x 0.8 40 40 8.5 90 4 12 33

CY1F15 6.5 51 10 19 66 53 65 20 99 19 5 M3 x 0.5 18.5 M5 x 0.8 50 50 7 97 4 12 40

CY1F25 7.5 66 13 27 84.5 70 89 25.5 128.5 17 9 M5 x 0.8 24 Rc1/8 65 65 8 129 5.5 14.5 52

KNYE

ÚÛ¹b�Ü

ÚÛ¹

5¸��

5¸��

1[Ýte
Þß�à


 á ·¸

I
 á ·¸C1/2

������[
1[��)â
��)â����)â

4-
N6����6-ø
N4��

5¸��

5¸��

ÚÛ¹b�Ü[�

ÚÛ¹

�K� ¡ IO�C
Ýt�K� ¡
�à Iã�C

ÚÛ¹ �

6-ø

�6� �[KNYEYZ � \�C5C6
C6[

KNYEYZ � \�C5C6
C6u

e�����8	
 <KNYEYZ � \�u5CC?

5¸��Ýte
Þß�à

5¸�� � á ·¸

ø

M
Iz{|\C

2-
M

Iä6¼åxC

d�����8	
 <KNYEYZ � \�[5CC?

5¸��ÝteÞß�à

2-

M
Iz{|\C

2-
M

Iä6¼åxC

� á ·¸5¸��

2-

�! T XA XL XY YA YB Z RS��

CY1F10 1 3 +0.012
   0 4 4 �6.5 3.4 3.4 98 RB0805-X552

CY1F15 1 3 +0.012
   0 4 4 �6.5 3.4 3.4 105 RB0805-X552

CY1F25 1 5 +0.012
   0 5 7.5 �9.5 5.4 5.5 140 RB1006-X552

QBC æ5×·¸u
Ïç XèéËÌJT Xv
0 ~ 2mm 5¸�å+525mm ·¸Y

QOC ·¸

0 ~ 26mm

1[ê�50mm ³4 ëøYA X���Y

ìí��

øYB

XL




